1. Find the general solution for the following equation:  (20%)

(2x+ 4)%y" —4(2x + 4)y' + 8y = 4In(2x + 4)

2. (a) Derive the Laplace Transformation from Fourier
Transformation. (10%)
(b) Describe the difference between L aplace Transformation and
Fourier Transformation from physical view. (10%)

3. F=e* cosVyi —e*sinyj + z2k. Determine whether F is conservative in the
entire space? (10%) If it is, find a potentia function and evaluate 'f F.dr.
C

Where C is the path from (0, 0, 2) to (1, n/4, 1) in the space, 7 is the
position vector for any point on C. (10%)

4.(a) (1 :{ SNt 0<U<2% i Laplace Transform o f(t). (10%)
0,t>2r
2
(b) F(s) = In( 52 +;), find the Inverse Laplace Transform. (10%)
s+

z
5. Use the residue theorem to evaluate J- 1+ 22 dz , Where T'thecircle

|4 = 4 (oriented positively). (20%)



